DELHI TRANSPORT CORPORATION OFFICE OF THE Sr. MANAGER (Elect.)-HQ I.P.ESTATE: NEW DELHI

Mg/173)/22/226

No. Sr. Manager (E)-HQ/F-915/2022/ 34

04 Feb 2022

NOTICE INVITATION QUOTATION

7		O	į														
•	÷				÷									•			
×		٠		٠	٠		*	*			٠	٠	٠		٠	٠	
			4			2			4	٠	Ţ			٠			

The percentage rate quotations are invited through tender cell for the following work on behalf of MD DTC.

S. No.	Name of Work	Estimated Cost (Rs.)	Earnest money	Time Allowed
1.	Renovation work of electrical installation of R.M. (East) office at DTC Nand Nagari Depot.	Rs. 89816.00	Rs. 1796.00	2 Months

Interested registered firm/ Contractors with Govt. Department of GNCTD/CPWD/any other Govt. department of Delhi may obtained the tender documents of the said work from the office of the undersigned after showing all related documents of Terms & Conditions of N.I.Q.

Date & Time receipt of application

04.02.2022 to 14.02.2022 up to 04.00 PM

Date & Time of issue of quotation

04.02.2022 to 14.02.2022 up to 04.00 PM

Date & Time of receipt of quotation

in Tender Cell, Room No.207 at DTC HQ.

15.02.2022 up to 12.00 PM

LP. Estate, New Delhi.

Date & Time of opening of Quotation

15.02.2022 up to 15.00 PM

The Earnest Money Deposit (EMD) of the required amount shall be deposited in favor of MD, Delhi Transport Corporation, I.P. Estate, New Delhi only in the Tender Cell Room No. 207, HQ. Delhi Transport Corporation, I.P. Estate, New Delhi up to 15.00 hours on due date.

The undersigned reserves the right to cancel the Tender any time without assigning any reason thereof. Signed and stamped copy of following document are required.

- 1. Valid Electrical& Contractor license.
- 2. Registration with any Govt. Department in Delhi.
- 3. Work experience of similar nature of work is required.
- 4. Document to be submitted along with bid in the tender cell of the DTC Head Quarter I.P. Estate New Delhi.
- 5. Rates will be quoted/retained in words also as well as in numbers otherwise quotation will be cancelled.
- 6. The undersigned reserve the right cancel any / all quotations without assigning any reason thereof.
- 7. The rates should be inclusive all taxes.

Sr. Manager (E) HQ

1. Dy. CGM (Civil) HQ

: - for kind information please.

Manager, (Tender Cell), :- for information and to make the arrangement for receipt of quotation and DTC, HQ, I.P. Estate, New Delhi opening as per above schedule.

3. Manager (Elect.) HQ

: - for information and necessary action please.

Manager (IT) Representation of the tender on DTC Website please.

5. Notice Board.+

6. Master File

Someoff for No

Schedule of work

Name of Work: - Renovation work of electrical installation of R.M. (East) office at DTC Nand Nagari Depot.

S. No	DESCRIPTION OF WORK	QTY	UNIT	RATE(Rs) (DSR- 2016)/MR	AMOUNT
1	Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch, modular plate, suitable GI box and earthing the point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable etc. as required.				
	Group C	13	Nos.	757.00	9841.00
2	Wiring for circuit/ sub main wiring along with earth wire with the following sizes of FRLS PVC insulated copper conductor, single core cable in surface/ recessed medium class PVC conduit as required.			737.00	9041.00
2.1	2 X 1.5 sq. mm + 1 X 1.5 sq. mm earth wire	40	Mtrs.	112.00	4490.00
2.2	2 X 4 sq. mm + 1 X 4 sq. mm earth wire	65	Mtrs.	168.00	4480.00
2.3	2 X 6 sq. mm + 1 X 6 sq. mm earth wire	15	Mtrs.	227.00	10920.00
3	Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.		Pricis.	227.00	3405.00
3.1	5/6 A switch	7	Nos.	84.00	588.00
3.2	15/16 A switch	7	Nos.	114.00	798.00
3.3	3 pin 5/6 A socket outlet	4	Nos.	81.00	324.00
3.4	6 pin 15/16 A socket outlet	4	Nos.	153.00	612.00
4	Supplying and fixing two module stepped type electronic fan regulator on the existing modular plate switch box including connections but excluding modular plate etc. as required.	4	Mos.	288.00	1152.00
5	Supplying and fixing modular blanking plate on the existing modular plate & switch box excluding modular plate as required.	2	Nos.	24:00	48:00
6	Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. as required.		10		10.00
6.1	3 Module	3	Nos.	91.00	273.00
6.2	6 Module	. 3	No.	126.00	378.00
6.3	12 Module	2	Nos.	166.00	332.00
7	Supplying and fixing suitable size GI box with modular plate and cover in front on surface or in recess, including providing and fixing 6 pin 5/6 A & 15/16 A modular socket outlet and 15/16 A modular switch, connections etc. as required.	2	Nos.	406.00	812.00
8	Supplying and fixing 3 pin, 5 A ceiling rose on the existing junction box/ wooden block including connections etc. as required.	5	Nos.	46.00	
9	Supplying and fixing call bell/ buzzer suitable for single phase,230 V, complete as required.	1	No.	61.00	230.00
10	Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point (without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required.			Company and Compan	01.00



ľ.0.i	Group C	3	Nos.	415.00	1245.00
11	Supplying and fixing 5 A to 32 A rating, 240/415 V, 10 kA, "C" curve, miniature circuit breaker suitable for inductive load of following poles in the existing MCB DB complete with connections, testing and commissioning etc. as required.				
11.1	Single pole	6	Nos.	173.00	1038.00
11.2	Double pole	1	No.	463.00	463.00
12	Supplying and fixing DP sheet steel enclosure on surface/recess along with 25/32 A, 240 V "C" curve DP MCB complete with connections, testing and commissioning etc. as required.	1	No.	627.00	627.00
13	S/I/T/C of ceiling fan 48 inch	4	Nos.	1990.00	7960.00
14	S/I/T/C of LED tube fittings 1X20 watt	2	Nos.	457.00	914.00
15	S/I/T/C of Exhaust fan 15 inch	1	No.	4087.00	4087.00
16	S/I/T/C of 2X2 36 watt LED panel	12	Nos.	3080.00	36960.00
17	Dismantling work old existing electrical installation i.e. old wiring cables etc as per site requirement	1	Job.	500.00	500.00
				Total	88048.00
18	Add prevailing cost index @15.69% on DSR-2016 items from Item S. No. (1 to 12) on Rs. 37627.00	1	Job.		5903.68
19	@9.5% below on DSR-2016+ Add prevailing cost index @15.69% on Rs.43530.68	1	Job.		4135.41
				Total	89816.27
				Say Rs.	89816.00

Terms and Conditions

- 1. The work shall be executed as per CPWD specification, works manual amendment up to date.
- 2. The contractor shall take all safety measures for satisfactory completion of the work on his own cost and he shall be responsible for any mishappening that may be occur during execution of the work.
- 3. No T & P will be provided by the DTC.
- 4. All valid/mandatory taxes will be deducted as per Govt. rules from contractor bill.
- Any kind of damage to any part of the building, cable, electrical wiring etc during execution of the work shall be made good by the contractor at his own cost.
- 6. Time reckoned for completion of work 02 Months from date of issue of work order.
- Contractor shall ensure the payment of workers in minimum wages and other social security scheme like PF, ESI
 Contribution and bonus etc.
- 8. Bidder (Contractor) must have valid Electrical Contractor license issued from Govt. of NCT of Delhi.
- Bidder (Contractor) must have registered with any Govt. Department of NCT of Delhi/CPWD/any Govt. Department.
- 10. Contractor shall ensure the payment of revision of minimum wages notified by labour department every year in the month of April & October. This clause shall not only be a statutory obligation on the part of contractors but also shall ensure the legal entitlement to minimum rates of wages to workers.
- 11. The Engineer-in-charge of the work will accept or reject the work executed, according to his judgment.
- 12. This order can be cancelled and the work will be stopped at any stage by the officer in charge of the work or by officer superior to him is authorized to suspend the work similarly, the contractor may also cease work at any time with prior intimation in writing acceptable to E-in-Charge.
- 13. Contractor may be contacted to the office of undersigned in case of any clarification required in regard of NIQ before bid.
- 14. The rates are inclusive GST and Bill will be submitted by the contractor after satisfactory completion of work as per rules of the corporation.

03/02/2022 yree ord S-0-(Elect)

- 15. Test certificate shall be submitted for all major items.
- 16. The work experience of the contractor will be three similar works minimum amount of 40% of estimated cost put to the tender or two similar works minimum amount 60% of estimated cost put to the tender or one similar work minimum amount of 80% of estimated cost put to the tender.
- 17. The security & Watch ward of site contractor materials/work etc shall be at cost of bidder itself. No extra amount will be paid by DTC in any case.
- 18. All electrical work shall be carried out in accordance with the provisions of Indian Electricity Act, 2003 and Electricity Authority (Measure Relating to Safety and Electric Supply) regulations, 2010 NEC 2011amended to date. They shall also conform to CPWD General Specification for Electrical Works, Part-I(Internal)-2003, Part-II(External)-1994, amended to date.
- 19. If the work is not taken up by the agency within time allowed, then work can be cancelled by the Department and EMD shall be forfeited.

List of preferred make

S. No.	Name of items	Make Preferred
1	Single Pole MCB	L & T, Havells, Schneider and Siemens
2	Double pole MCB	L & T, Havells, Schneider and Siemens
3	Ceiling Fan 48"Inch	Crompton, Orient and Havells
4	LED tube fittings 1X20 watt	Crompton, Havells, Orient and Phillips
5	Exhaust Fan 15" inch	Crompton, Havells and Bajaj
6	2X2 36 watt LED Panel	Crompton, Havells, Bajaj, Wipro and Phillips

Encl: - As above.

Manager (Elect.) HQ

S.O. (Elect.) East